N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

%] F 1% %]
x F X B4
8 s[ 3 g |
S10°F 5. =
E ot o
E ] g
10*F 2
E =]
o =
10°F
10%F
10F
1F
e 4
3 :
Bissl a 1 m
0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—‘25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L B R IE R L 2
[=} [=} [=}
g g ., S
TS 910 s
20 ] $
g
=]
=
10?
10
e TT FECLE SERRE PIREE SRR 1 o I FETTRTTERR PIREE SN feeeeeieek
o.uuu- otuy oL MTE NS NS PR NS e
iallll | 2 £ 11—
o o o
|| Il || |
0.95! L H L 0.9% 0.95! L H L L H
10 O 10 20 30 =30 -20 -10 0 10 20 30 =30 -20 - 20 30 =30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


